PU - Pumps

PUMPS - FMC water pumps

[ E0413 Parts Diagram \

Performance Table FMC E0413

Pump Piston  Displacement Max Pressure Pump Capacity (GPM) @ Input Speed (RPM)
Model ~ Diameter (in) (GALREV) — (PSI)  390RpM 400RPM 425RPM 450RPM 575 RPM

CEOM3 1625 0036 | 600 | 1401
North America 1-800-669-3542
M IINVE International +1-705-647-8138

PAGE: PU2

www.timeltd.ca



FMC - E0413
PN: 39-160-03

Specifications:

+ Standard Suction Size: 1.25" NPT
+ Standard Discharge Size: 0.75" NPT
+  Pump Weight (Average): 80 Ibs

Features:

* Fluid end material of ductile iron

+ Nitrided crankshaft resists corrosion

+ Designed for easy, economical
maintenance

+ Cast iron pump case

+ Special raised seat valves and
hardened valve chamber available
for abrasives

M 1IINVIE

PUMPS - FMC EO0413C

ltem Part Name

1 Hex Cap Screw %™-13 x 1 72" (plate
2 Clamp, Valve Cover (steel)
3 Valve Cover (steel) 4

4 ‘0" Ring 12

5 Valve cage (SS) “
6 Valve Disc & Spring ASM (S¢ “
7 Seat, Valve (SS) 8
8 Cap screw, 3/8™-16 x 5”
9 Valve Chamber (cast iron)
10 Pipe Plug, 4" galv.
11 Cap screw, 5/16™18 x 1 %" (
12 Packing Washer
13 Packing n
14 Packing holder n
15 0" Ring
16 Washer, Umbrella n
17 Gasket Cylinder “
18 Cylinder, ceramic
19 Umbrella n
20 Sleeve, Crosshead n
21 Case, Pump (cast iron)
22 Plug, oil ill (3/4” pipe)
23 Crosshead (cast iron) n
24 Wrist pin
25 Conn. Rod ASM n
26 Crankshaft ASM, Driven
27 Crankshaft ASM, Drive
28 Bearing Insert, Conn Rod (pa n
29 Snap Ring (N5000-244) 4
30 Seal, Oi
31 Bearing (N.D. 5206)
32 Bearing (N.D. 1206)
33 Ol Slinger
34 Gasket, Pump Base
35 Mounting Base, Pump
36 Wave Lock Washer, 3/8”, S’pr
37 Cap screw, 3/8” - 16 x %
38 Magnetic Drain Plug, %" pip
39 Valve Seat Remover

North America 1-800-669-3542 [=] gl
International +1-705-647-8138 -
PAGE: PU3 E"I' e

www.timeltd.ca



